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J97-95 § F991 1 G&I7 13 8 | @4 I97 3T & |

GUE & 4 J97 &I 1 8 5 0% 3T TY-I70F IR & o7 &, F4% J97 2 3H] H7
& | IF Fo7 BT IR 40 V5] G 378 787 7 a7 |

GUE & H 97 &I 6 & 8 Th TY-IHR1T FHR & J97 &, % Jo7 3 37l &I
8 | Yc9% 97 &7 3K 80 eg] & 37ferek 787 5141 T30 |

GUg T 4 97 G&IT 9 3K 10 JH-3709 IR & 97 &, Ieddb I97 5 IHl &7
8 | Y% Y97 &7 I 120 Fsc] G 37fereb 787 517 =150 |

GUE T § J97 &7 11 3K 12 FG-37ERT J97 &, Jed% J97 4 3] HT 8 |

GUE & I Fv7 &7 13 TIHIGA-3TRT & | T8 97 3 371 &1 8 foraa gl 977 & -
13 (%) sfasr@ @ (1 37%) o7 13 (@) et @ (2 37%) |

Y97-77 § GHT W HI3 [dHcT 78 & | d9fI, Fo I 7 daked faHey [T @
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Wusg <h
(stfer erg-Swa ued) (5x2=10)
TR ST R Jamfan 3 afeqa ras sngie o amea w=i forar 2
TS HINT | 2
YREEd & T1e9 o ®9 H {09d % HE I &l dohl § 90g hifoT | 2
qAlehad sl TUTaT 59 YR &t A R fohd Jehr fel 8 2 2
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)

(it)

(iii)

(iv)

(v)

(vi)

(vit)

(viii)

This question paper comprises five sections — Sections A, B, C, D and E.
There are 13 questions in the question paper. All questions are compulsory.

Section A — Questions no. 1 to 5 are very short answer type questions, carrying

2 marks each. Answer to each question should not exceed 40 words.

Section B - Questions no. 6 to 8 are short answer type questions, carrying

3 marks each. Answer to each question should not exceed 80 words.

Section C - Questions no. 9 and 10 are long answer type questions, carrying

5 marks each. Answer to each question should not exceed 120 words.

Section D - Questions no. 11 and 12 are case-based questions, carrying

4 marks each.

Section E - Question no. 13 is map-based, carrying 3 marks with two parts,
13(a) from History (1 mark) and 13(b) from Geography (2 marks).

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions

have to be attempted.

Attach map along with your answer-book.

SECTION A
(Very Short Answer Type Questions) (6x2=10)

Why did Indian merchants and industrialists support the Civil
Disobedience Movement ? Explain. 2

Examine the significance of railways as a means of transport, with two
arguments. 2

How does the quality of democracy depend on the degree of public
participation ? 2
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(4.1) F& fafmio & fofu STTawes snaRyd ammft - g ? 1

(4.2) T ITN H oI HIL T Toh G180 ST, | 1

‘aiT ST TR TeRR HgT 1 HEwaUl A& § ? 2
wis 9

(FTg-3a ) (3x3=9)

wﬁu&ﬁawﬁ@ﬁaﬁraﬁaﬁﬁﬁrﬁwwmﬁawﬁ%ﬁm
Tl O Bl =1 B W@ F&0 o7 |7 IRA b deW H 39 HAT hl gfe

T | 3
(%) RO h UGG R SIS @il § A T HIT | 3
3T
(@) e, fa<ii™ Jomed o T Ho e o &9 § fhE TR 1 hidl & ? T
T | 3
‘Sgaclid oot i foheal A foriwdrati sl Tse i | 3
Qg T
(Srdh-sva we) (2x5=10)
(%) “chephad @A, 7 el (foepewl) @ S8 2 |7 39 AT &
fareeteor i | 5
3T
(@) = g o dehad o fa=R % fow 9 awe o wre w1 favew
HIT | 5
(%) < o TopE # Syl 5 fohd 8¢ @k AMeH f@n 8 2 e HINT | 5
3T
(@) YA H SvEiehiul o THTEl 1 HedTehd hifag | 5
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4, Study the given flowchart and answer the questions that follow :

Fibre s e Weaving
Production P g Knitting

. Garment
manufacture

Dyeing and
Finishing

(4.1) Which is the basic material required for garment manufacturing ? 1
(4.2) Give one example of value addition in the textile industry. 1
5. How is ‘Demand Deposit’ an essential feature of money ? 2
SECTION B
(Short-Answer Type Questions) (3x3=9)
6. “It was essential to preserve folk tradition in order to discover one’s
national identity and restore a sense of pride in one’s past.” Support the
statement in reference to India. 3
7. (a) Differentiate between formal and informal sources of Credit. 3
OR
(b) How does a bank work as a key component of the financial
system ? Explain. 3
8. Explain any three features of ‘multi-party system’. 3
SECTION C
(Long-Answer Type Questions) (2x5=10)
9. (a) “Democracy is a better form of government than any other
alternative.” Analyse the statement. 5
OR
(b)  Analyse the reasons for the overwhelming support for the idea of
democracy all over the world. 5
10. (a) To what extent has globalisation contributed to the development of
the country ? Assess. 5
OR
(b)  Assess the impact of globalisation in India. 5
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11.

12.

Qs v

B
O

(ha-TeTiE 99 ) (2x4=8)

= fou Tu S @ eHgde ufer 3 35k = for T i % 3@ fafau
U STUSTATET hi e @l

Jgd THY o AR AT UREed godl T Hfgd &9 a% & foham S
o | fosm e Stenfihl < e % |1 <R 9 uftged % g9 & § foega
3fg 5 7 | GgW g i il arel IiEET ¥ oS TUR Uk 9 e # gREfda &
T 2 | GNEE 1 I8 faeht SR A9Al o fohrE hl TRl § & 69a &l Hehl
2 | $EifeTy aftee, SR 9 SR Th-g8 % I 2 |

A WRA A former sthw, fafawmrstt, Wi qem @ 9 wrepfos
qgmmaﬁ%qlq%w%mﬁ%ﬁﬁwwﬁﬁ‘s’rgaﬂ%IiFr Iy @

S uiEEd, EER-E, e, geed, feHmr qur see, Ife gEeh
gTSeh-31fde fopma T e TR ¥ 8@ & | T1iHe 4 Iaudiy @iy

SR A AT Sl (G Wk & & | 384 AR Sfad 1 Tqg foram 8 e
AR Sfted o fow giaenmsti @ wreqt § sead 61 8 |

(11.1) 9REE % o™ H T3 fohd TR T HE@qUl HIeh & ?
(11.2) EWIN 9 HIEhidh TgAdT i THaE [hH THR Tehishd HT 7 ?

TIee HIT |
(11.3) Toreft T & foTu o= & e o1 favetwor HifSe |

= fou Tu S @ eagEe ufen 3 35k i for T et & W fafeu
Taaaan feawd 6 yae, 26 JFad, 1930
‘T fave 3 for fordft off oue <hi 9@ R SHaT 1 oft 98 T STEwiE
(inalienable) AfIHR 7 foh 37 AT firet, 19 Tga 1 et et R Sfam
& aeft srravTeRard gt g fmE 3% o Sed o uigul orEE fied | guW U8
o fagare 3 T afe =8 oft TR 19l ST 1 39 IRl & dafed Wdt @
3R gETcht @ a1 a1 1 Hi TR I Fgad A1 Y A FHIE B h1 DR
K |Wﬁﬁﬁﬁ(ﬁﬁﬁ)wﬁqwmﬁwmﬁwdmlﬁdwd
foraT 8 dfces ITF SHAT b1 WU foham @ SR e I affees, TeHlfdes,
HIEHieh o eATfors TR T T8 G § | s\l g favam § T W
Hl A §9 G foreT & WY oA Tt FE4T I GHIE b IO TS IH
T =fge |
(12.1) TEAFAT ! YA AN o TN ATYHR & 7T T 2

4

1
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11.

12.

SECTION D

(Case-based questions) (2x4=8)

Read the case given below carefully and answer the questions that follow :
Lifelines of National Economy

For a long time, trade and transport were restricted to a limited space.
With the development in science and technology, the area of influence of
trade and transport expanded far and wide. Today, the world has been
converted into a large village with the help of efficient and fast moving
transport. Transport has been able to achieve this with the help of
equally developed communication system. Therefore, transport,
communication and trade are complementary to each other.

Today, India is well-linked with the rest of the world despite its vast size,
diversity and linguistic and socio-cultural plurality. Railways, airways,
waterways, newspapers, radio, television, cinema and internet, etc. have
been contributing to its socio-economic progress in many ways. The
trades from local to international levels have added to the vitality of its
economy. It has enriched our life and added substantially to growing
amenities and facilities for the comforts of life.

(11.1) How is science an important factor in the development of
transport ?

(11.2) How has transport integrated socio-cultural plurality ? Explain.

(11.3) Analyse the significance of communication for a nation.

Read the case given below carefully and answer the questions that follow :
The Independence Day Pledge, 26 January, 1930

‘We believe that it is the inalienable right of the Indian people, as of any
other people, to have freedom and to enjoy the fruits of their toil and have
the necessities of life, so that they may have full opportunities of growth.
We believe also that if any government deprives a people of these rights
and oppresses them, the people have a further right to alter it or to
abolish it. The British Government in India has not only deprived the
Indian people of their freedom but has based itself on the exploitation of
the masses, and has ruined India economically, politically, culturally, and
spiritually. We believe, therefore, that India must sever the British
connection and attain Purna Swaraj or Complete Independence.’

(12.1) Why was freedom considered an inalienable right of the Indian
people ?

EE
I

4

1
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(12.2) WRd % SN gRT YU TGS i STE9Th F1 HHT T 2 1

(12.3) HITF & ATRR TSI (1930) o AZTT hl SITSAT hIFVT | 2
Qe T
(urtera-amenta avT) (1+2=3)

13. () feu MU wRa W ToHifae W@I-AHEE (98 11 W), § efatad e
H gEgEar ¥ A’ % ®9 § Tafgd Tom i ugee Hife R 3us 9w
i T8 [T W 3T Fat A ffau |

A. I8 TN g1 ET o hIUT STEEINT ITeled bl ITfug foram T | 1
(i) feu U wRE & s W@rAERE w AEfafad i sifea Fifve s 396

T fafey |
(F) (I U GH] HAl G99 1
Jrera
(II)  SATE® AT JaIalrsil Teh 1
(@) sfeu Tt ST=isd™ gaTs Iem 1

qig:  FHEciRad 397 Fac1 gRETET qhendat & 70 ¥97 &1 13 & €& T/

&/ 3x1=3
(13.1) 39 TsF o1 AW fafaw @7 1927 T YRAT TS ST &1 AREsH
g3 | 1
(13.2) (%) 38 TF o1 91 Tl S|t 700 o] St oo feda 2 | 1
T
(@) 38 T 1 99 fAfau F|t siTefe ArFeask ol ureh fea 8 | 1
(18.3) 39 W& o1 7 foiRgu wrat sfeu mieh sraiisda gamg o= feoa 7 | 1
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(12.2) Why was Purna Swaraj considered essential by the people of
India ? 1

(12.3) Explain the significance of the Lahore Session of Congress (1930). 2

SECTION E
(Map-Based Question) (1+2=3)

13. (@) On the given political outline map of India (on page 11), identify
the place marked as ‘A’ with the help of the following information

and write its correct name on the line marked near it.

A. The place where Non-Cooperation Movement was called off

due to violence. 1

(i1))  On the same given map of India, locate and label the following :

(a) (D Narora Nuclear Power Plant 1
OR

(IT) Bengaluru Software Technology Park 1

(b)  Indira Gandhi International Airport 1

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 13. 3x1=3

(13.1) Name the State where the session of Indian National Congress
was held in 1927. 1

(13.2) (a) Name the State where Narora Nuclear Power Plant is
located. 1

OR

(b)  Name the State where Bengaluru Software Technology Park
is located. 1

(13.3) Name the city where Indira Gandhi International Airport is
located. 1
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